PRINTABLE VERSION

Quiz 3

You scored 0 out of 100

Question 1
You did not answer the question.

How long does it take for a sum of money to double if compounded continuously at 7 %?

a) ' approximately 10.504 years
b) approximately 2.404 years
© approximately 9.904 years
d) © approximately 11.404 years
€) ' approximately 11.504 years

Question 2
You did not answer the question.

According to the Bureau of the Census, the population of the United States in 1990 was approximately 249 million and in 2000, 281
million. Use this information to estimate the population in 1960.

169

a) million
b) FIT iltion
©) 179 ittion
d 73 ittion
€) 175 ittion
Question 3

You did not answer the question.

According to the Bureau of the Census, the population of the United States in 1990 was approximately 249 million and in 2000, 281
million. Use this information to predict the population for 2020.



a) 354 niltion
b) 302 itlion
o I Lilion
0 @ 332 wittion
o 300 Liion
Question 4

You did not answer the question.

The half-life of radium-226 is 1620 years. What percentage of a given amount of the radium will remain after 700 years?

oo 760,
b o 740,
o 700,
oo 780,
o & 800,
Question 5

You did not answer the question.

The cost of the tuition, fees, room, and board at ABC College is currently $8000 per year. What would you expect to pay 2 years from
now if the costs at ABC are rising at the continuously compounded rate of 8§%?

a (g 10288
b) @ g 5688
o O 9388
a) O 10088
o O 9588

Question 6



You did not answer the question.

)

’
. 7
Cos P arcsm[— )J
Determine the exact value of 45 .

227
w0 625
21
@ 25
529
o0 625
526
Qo 625
104
oo 125
Question 7

You did not answer the question.

Differentiate

Flx)=arcsec E4 :1:2]

a) x \,-"I 45° 1
b) X -.hlIII 14 .1-4 -1
oo xry32x—1

0 xy 165 — 1

9 J1ex 1



Question 8
You did not answer the question.

Differentiate

£(x) = arctan(d x)

6 ¢ — arctan(6 x) (1 + 36 %)
2
2 L+ 367

T+ arctan|d x) f_l + 36 xz]
b) (14 36°)

6+ arctan(6 %) (2 + 36 %)
2
0 14+

6 ¢ — arctan(6x) (2 + 36 )

f 24 2
a (11— 36%") x

6 — arctan(6x) (1 + 36 )

o (1+365°)

Question 9
You did not answer the question.

Differentiate

#ix) =arcsin( Jo— 342 )

Ix

oo J-8+37) (0-34)

Ix

by J-g+34) (0= 34)

x

o J-8+342) (0—34%)




3x

d) a‘l'll Q-3 :r:z

X

o o (-8+34%) (934

Question 10

You did not answer the question.

Evaluate the given integral.

L3
4
q ,,-"I 1 — o
a) -Iim
L
by o
0 am
Lo
a2
e) L
Question 11
You did not answer the question.
Evaluate the given integral.
2
3
_
4
q 16+ 36 x

o U6

b) 48



o ® 288
1
Qo 4B
1— ]I'I:
oo 102

Question 12

You did not answer the question.

Evaluate the given integral.

dni7 )
]
E
1+ et?
1]
L m+ L arctan(7)
a) B 2
1 .
-—m+ 2arctan(7)
b) 2
|
-—m + arctan(7)
c) 4
|
— m — 2arctan(7)
a2
L T+ L arctan(7)
o 17 3 '
Question 13
You did not answer the question.
Calculate the given indefinite integral.
Bx
\1"“ ]. - .'-L'4

a) 4 arccns(xz] 4+



b) b EI'I:SiIlEIE] 4+
0 4 art:sin(xz] +
d) b aru::u::ns(xz] +

e) 4 arn::sin(xq] +

Question 14

You did not answer the question.

Calculate the given indefinite integral.

11

dx
o 1+ (2 %) )

a) -1larczeci{ln(2x)) +

p) o —1larctan(in(2x)) + ¢

L arceec(lni2x))+ C
0 11

d) arctan(ln(2x)) + <

o) 1l arctan(In(2x)) + &

Question 15

You did not answer the question.

The region bounded by the graph of fbetween x = 0 and x = 11 is revolved about the y-axis. Find the volume of the resulting solid.

) 1
Jx) = ——
J1at+x

a)
b) 3 3
-m+2202

©)



a0 “Hn+4 ST

o “G6m+ 662

Question 16
You did not answer the question.

Differentiate the given function.

Fix)y=swh( 10 x) coshi10x)

10 [eosh(10 %) F — 10 [sinh(10 %)

a)

by & 10 [cosh(10 %) T

o @ 10 [cosh(10x) *+ 10 [sina(10 x)

o © [cosh(10x) 7+ [sinh(10x) |

o @ 10 [sinh(10 %) T
Question 17

You did not answer the question.

Differentiate the given function.

F=arctanisinh( 11 x))

11 smhi1l x)

a & L+ (cosh(11x))?

11
b) coshill x)

1
) coshill x)

o
d) coshi 1l x)

coshill @)
e) 1 — {smhi1l x)

)2



Question 18

You did not answer the question.

Calculate the indefinite integral.

J-sinh( 10%) (cosh(10x))" dr

_ L (cosh(10x)) ¥+ o
2 50

1

= (cosh(10%)) + €
by 2

R

(cosh(10x))° + C
oo 10

L (cosh(10x))  +
T

L cash(10 ) + ¢
e) 4

Question 19

You did not answer the question.

Calculate the indefinite integral. )
coshid x)
sinhi4 x)

L In{cosh{4x))+

a) 4

L Infsinh(4x)) +
b 4

1. .

— In(coth(4x)) + &
c) 4

- tanh(4 %)) + ¢
d) 4

—1— Infcoth(4x)) +
e) 4



Question 20
You did not answer the question.

Find the average value of f (x) on the interval [-2,2].
Fixy=10 coshix)

EX coshid)
a) 4

EX sinh| 2]
b o 2

0 Jcosh(2)

o 3sinh(2)



